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Re-Imagination of learning
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Tick the correct answer out of given choices.

1. Which of the following object/unit combinations is correct?
a. road/miles
b. fork/miles
c. shoel/yards

2. Joyce is making a curtain and she needs 4 yards of fabric to complete
it. She has 3 yards of fabric, how much more fabric does she need to
buy to complete the curtain?

a. 1 foot
b. 3 feet

c. 2 yards

3. Larry is building a house. He measured a piece of wood to make a
door. The piece of wood was 36 inches too long to make a door. How
much, in feet, does Larry have to cut off the piece of the wood to make
the door the correct length?

a. 1ft
b. 3 ft

c. 4 ft

4. Debbie wants to hang a clothesline between two hooks on a wall.
The walls are 12 feet apart. The hooks each come out of the wall by
6 inches. About how long does the clothesline have to be to be hung
by either end on both hooks?

a. about 12 ft
b. about 12 in

c. about 11 ft

5. Which of the following statements is the same as: “This piece of chalk is
12 cm long”.

a. this piece of chalk is 4.72 in long
b. this piece of chalk is 4.72 ft long

c. this piece of chalk is 30.48 in long
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